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Tect no anrnmiickomy a3siky Ne
Tect cocToHT U3 YacTH A. Ha ero shinionHeH#e otBomuTea 120 MHH.

Yacms A.
K xaxaoMy 3aaHHIO YaCTH A JAHE HECKOMBKO OTBETOB. B 3ajaHuAX, HOMEpa KOTOPHIX He
NOMMEPKHYTH, TOMLKO OAMH OTBET BEpHBI. B Onanke OTBETOB NOA HOMEPOM 3ag8HHA
TIOCTaBHTE KPCCTHK (X) B KIETOUKE, HOMEP KOTOpOH COOTBETCTBYET HOMEpY H30pamHoro Bamu
orseta. Bee TEPMHHEI, NPEANOKCHHBE B YacTH A, OTHOCHTCA K CHIEUMAIBHOCTH «ITpuxaagnas

uHopMaTHKan.

WHAT ARE TELECOMMUNICATIONS?

Telecommunications refers to the transmission of signals over a distance for the purpose
of communication. Information is transmitted by devices such as the telephone, radio, television,
satellite, or computer networks. Examples could be two people speaking on their mobile phone, a
sales department sending a fax to a client, or even someone reading the teletext pages on TV. But
in the modern world, telecommunications mainly means transferring information across the
Internet, via modem, phone lines or wireless networks.

Because of telecommunications, people can now work at home and communicate with
their office by computer and telephone. This is called teleworking. It has been predicted that
about one third of all work could eventually be performed outside the workplace. In call centres,
assistance or support is given to customers using the telephone, email or online chats. They are
also used for telemarketing, the process of selling goods and services over the phone.

Match the following statements as True or False:
1. The purpose of telecommunications is connection.
a) True
b) False
Answer the questions to the text: -
1. What is telecommunications?
a) transmission of signals over a distance for communication;
b) sending letters over a distance for communication;
¢) transmission of electric impulses over a distance for the purpose of communicatiosn.

Choose only ONE correct answer:

1. The English for TEP®OKAPTA is:
a) phone card
b) punched card
) perform card

2. The Russian for FUNCTION KEYS is:
a) GyxseHHO-LHpPOBLIE KIABHIIH
b) dyHKUHOHANBHEIC KIaBHIIH

3. KNaBHIIM JUIA KOHTPOJIA Kypcopa
What is the correct translation of the sentence: “Neumann's machine called the EDVAC

was designed to store both data and instructions.”
a) Hefimanosckyio mamudy, Hassisaemyio EDVAC, ckouctpysposanu ais

XpaHeHHA HHPOPMALIMH H KOMaHJL
b) Mammna Hofimana, nassaHnas EDVAC, Gbiia cosftaHa, <1066 3ANOMHHATS KaK

HHPOpMALHIO, TAK H KOMAHABL
c) Mawuny HoliMara, koTopas XpaHuia NaHHHEC H

HHCTpYKLAH, Hassans EDVAC.

. Letters ALU stand for:

a) arithmetic logic unit
b) analytical logic unit
c) arithmetic little unit

. My friend never ... basketball.

a) playing
b) plays
¢) am playing

. The bus you need is parked at ... .

a) the lane two
b) lane the two
c) lane two

. Jane was here a few minutes ago, but she ... .

a) has gone
b) went
c) have gone

. They have their English ... hours a week.

a) much
b) many
c) little

. Did you have ... time to go to see him yesterday?

a) no
b) any
¢) some

10. Her birthday is on ... first day of spring.

a) the
b) a
c) no article
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Tect no anrnufickoMy a3niky Ne
OCHOBHOE TECTHPOBaHKE /I NOCTYNJICHHS B MATRCTPATYPY
no nanpasiennio «[leaarorudeckoe o6pazopanue (NPOorpaMMa MarHCTDATyphI:
HUndopmannontsie TexHoaorHu B obpazosannn)» ua Gaze Gakanaspuata

Ha sninonnenue Tecra orpoantesa 120 MuH,

K xaknoMy 32120 IAHE] HECKOLKO OTBETOB. B 3aaHMAX TONEKO OHH OTBET BEPHEIH.

B 6narke OTBETOB 10 HOMEPOM 33aHHA NOCTABMTE KPECTHK (X) B KIETOUKE, HOMED KoTOpO#t

COOTBETCTBYET HOMEpPY U3bpanHoro Bamu oTsera.

WOULD YOU LIKE TO BE A MILLIONAIRE?

Many people think that money brings happiness. However, according to Professor Michael
Argyle, this is not true. In Britain, we are richer but unhappier than fifty years ago. The USA is

the richest country in the world but Americans are not the happiest people in the world.

Professor Argyle has found that very poor people and very rich people are unhappier than
those in between. For example, very poor people in the developing world live in overcrowded
houses without any running water and with no electricity. However, there are also many
millionaires with personal problems. A lot of young people who get rich very quickly are at risk.

Because of this, a few young millionaires are changing their lifestyles. Richard Cross, a
multi-millionaire computer analyst from California, is an example. His house shows no signs of
his wealth. There is a small garden and there are only two cars parked outside his house. “I want
my kids to live a normal life”, says Richard.

So what can make us happy? According to Professor Argyle, you should have one close
relationship and some close friends. You should do a little sport and have a lot of contact with

other people. Other people make you happy, not money!

Match the following statements as True or False:

Al British people are happier than in
the past.
1) True
2) False
A 2. The Americans are the happiest
people.

1) True

2) False

A 3. Millionaires and very poor people
are often unhappy.

Answer the questions to the text
A 6. Who considers that money does not
bring happiness?

1) Professor Michaet Argyle

2) Doctor Michael Cross

3) Computer analyst Richard Cross

A 7. Which country in the world is
considered to be the richest?

1) Britain

2) USA

3) Russia

A 8. What kind of lifestyle do a few young
millionaires choose?

1) Open to experience lifestyle

1) True

2) False

A 4, Richard Cross has not got much
money.

1) True

2) False
A 5.1¢’s a good thing to have friends.
1) True

2) False

2) Busy, rushing lifestyle

3) Modest, normal lifestyle

A 9. Which statement is NOT true about
Richard Cross?

1) His house is not wealthy.

2) There is a small garden.

3) Each member of his family has two cars.

A 10. According to Professor Argyle, what
makes people happy?

1) Other people.

2) Money.

3) Many cars.

Choose only ONE correct answer
A 11. The English for BEIIIOJIHATH
OIIEPAIIUMU is:
1) perform operations
2) calculate operations
3) edit operations
A 12. The English for TOCTYIT K
HHTEPHETV is:
1) Internet access
2) Internet use
3) surf Internet
A 13. The English for 3ATPYXXATB
JAHHBIE is:
1) download data
2) store data
3) input data
A 14. The English for UBOBPETEHUE is:
1) invention
2) development
3) improvement

A 15. The English for OBPABATBIBATD is:

1) downioad
2) develop
3) manipulate
A 16. The Russian for MULTIPLICATION
TABLES is:
1) norapudmuicckue TabanLBI
2) Tabnuupl YHCEN
3) Tabnuupl yMHOKEHHA
A 17. The Russian for COMPUTER
SALESPERSON is:
1) mpoxasen, KOMNBIOTEPOB
2) nporpaMMHCT
3) MHXCHEP-TIPOTPAMMUCT
A 18. The Russian for RETIRE is:
1) ycrpauBareca Ha paGoTy
2) HanuMaTs Ha paGoty
3) yxoauTh Ha NIEHCHIO
A 19. The Russian for SCHEDULE is:
1) rpa¢mx
2) 3asBacHHE
3) 3anaTHE
A 20. The Russian for APPLICATION is:
1) o6raBneHue
2) 3assnenue
3) npurnamenue
A 21. Letters ALU stand for:
1) arithmetic logic unit
2) analytical logic unit
3) arithmetic little unit
A 22. Letters DTP stand for:

1) desk tip publishing
2) desktop publishing
3) daytime publishing

A 23. What is the correct translation of the

sentence: “Vacuum tubes to control and

amplify electric signals were invented by

Neumann.”

1) UzoGperennniec HofimaHoM BakyyMHBbIE
JIAMITBI PETYHPOBATH H YCHIMBATH
3NEKTPHUCCKHE CHTHATIBL.

2) HotimaH H306pen 3NeKTPOHHEIE JIaMIb!
IS YTIPABACHUA H YCHICHHA
SJMCKTPHYECKHX CUTHAJIOB.

3) DneKTpOHHBIE TaMITbl, KOTOPbIE
pErynUpOBANH M YCHIHBANH
IAEKTPUYECKUE CUTHANEI, OBLTH
u3o6perens HolimaHoM.

A 24. What is the correct translation of the
sentence: “An American clerk invented a
means of coding the data by punching holes
into cards.”

1) AMepukaHckuit cayxamui uzobpen
NOCPeACTBOM KOABPOBAHHA
undopMaumu neppokapty.

2) AMepHkaHCKHIT Kaepk H300pen
nepdoxapry, koaupys HHpopMaLHio.

3) AmepukaHckuii cnyxaimii H3o6pen
cpeacTso wHPposaHHT HHPOPMaLIMK
nyTeM NpoGHBaHHA OTBEPCTHI B KapTe.

A 25. Which of the sentences is correct:
1) What makes your computer such a
miraculous device?
2) What does make your computer such a
miraculous device?
3) Does what makes your computer such a
miraculous device?
A 26. Which of the sentences is correct:
1) How much does cost it for the return
ticket?

2) How much for the return ticket does it

cost?

3) How much does it cost for the retum

ticket?
A 27. Which of the sentences is correct:

1) The cat isn't hiding from the dog, isn't

it?

2) The cat is hiding from the dog, doesn't

it?

3) The cat is hiding from the dog, isn't it?

A 28. Which of the sentences is correct:

1) We might have made boats from these

trees, we haven't found any but.



2) We might have made boats from these
trees, but we haven't any found.
3) We might have made boats from these
trees, but we haven't found any.
A 29. Which of the sentences is correct:
1) Today, this job be done can by a chip.
2) Today, can be done this job by a chip.
3) Today, this job can be done by a chip.
A 30. Which of the sentences is correct:
1) Steve Jobs is the person who started
Apple computers.
2) Is Steve Jobs the person who started
Apple computers.
3) The person Steve Jobs is who started
Apple computers.
A 31. Are ... books interesting?
1) those
2) that
3) there
A 32. ... she get up early every day?
D Is
2) Has
3) Does
A 33. The boys ... football at the moment.
1) play
2) is playing
3) are playing
A 34. She is not as old ... Dan.
1) that
2) than
3) as
A 35. ... pictures are very good.
1) This
2) These
3) That
A 36. Pete should ... a telegram.
1) tosend
2) send
3) sending
A 37. Do you want ... the news?
1) knowing
2) know
3) to know
A 38. They ... TV now.
1) watch
2) is watching
3) are watching
A 39. Their holidays are ... June.

1) in
2) at
3) on
A 40. My friend never ... basketball.
1) playing
2) plays
3) am playing
A 41. The bus you need is parked at ... .
1) the lane two
2) lane the two
3) lane two
A 42. Jane was here a few minutes ago, but
she ... .
1) has gone
2) went
3) have gone
A 43. Were you in Kiev last year? — No, I...
1) didn't
2) weren't
3) wasn't
A44.1... toKiev yet.
1)} have never been
2) was never
3) am never being
A 45. They've got ... oranges left.
1) afew
2) alittle
3) anumber
A 46. We are going to ... favourite shop.
1) ours
2) our
3) us
A 47. ... did you put my book?
1) Who
2) Where
3) When
A 48. Yesterday was the ... day this year.
1) hottest
2) most hot
3) very hot
A 49. ... much work yesterday?
1) Did youdo
2) Do youdo
3) Have you done
A 50. ... late.
1) Notbe
2) Benot
3) Don’tbe
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TecT 10 HeMelKoMy A3biKy Ned3102
OCHOBHOE TECTHPOBaHUE JUA NOCTYIUICHHA B MATHCTPaTypy
no nanpasnennio «[Iporpammuan HikeHepus» Ha Gaze GakanappHara

Tect cocTouT U3 YacTH A. Ha ero srifiofiHcHHe OTBOIHTCH 120 MuH.

Yacts A.
K kanoMy 3aaHHIO 4acTH A JaHB HECKONbKO OTBETOB. B 3a1aHuAX, HOMEPA KOTOpHIX HE
MOAMEPKHYTH, TONBKO OAMH OTBET BepHeiil. B Onanke OTBETOB [OJ HOMEPOM 3aNAHMA
NIOCTABUTH KPECTHK (X) B KJICTOUKE, HOMED KOTOPOH COOTBETCTBYET HOMEPY usbpaxHoro Bamu
oTBeTa. Bee TEpMUHBL, NPEANOKEHHEIE B TaCTH A, OTHOCATCA K CreuMaibHocTH «[lpuxnanmas
HHGOpMATHKA.

Lesen Sie den Text und withlen Sie die richtige Variante:

Bit und Byte: Verarbeitungseinheiten fur Informationen und Daten
Daten sind Werte und Inhalte, die eine Information darsteilen. Aufgrund der Menge an
Wissen ist es notwendig, Informationen und Daten festzuhalten und zu Gibermitteln. Dazu sind
Strukturen festzulegen, um Informationen und Daten speichern, verarbeiten und transferieren zu
konnen.
Die gebrinchlichsten Verarbeitungseinheiten in der Computertechnik sind Bit und Byte.
Die kleinste MaBeinheit ist das Bit und dient zur Messung von Kommunikation und
Speicherkapazitat. Das Wort “Bit” stammt von Claude Shannon. Es kann zwei Zustinde
annehmen. Zum Beispiel JA/NEIN, AN/AUS, 1/0, wahr/falsch.
Physikalisch” wird ein Bit in Form einer elektrischen Ladung (in einem Kondensator), in
Form einer elektrischen Spannung (an einem Widerstand) oder durch Magnetisierung (an einer
bestimmten Stelle) dargestelit.
1) a) Daten stelien eine Information dar.
b) Daten stellen keine Information dar. ..
¢) Daten konnen die Information speichern. o
2) a) Bit und Byte sind Strukturen, die Informationen und Daten spejchern, verarbeiten
und transferieren zu konnen.
b) Byte kann nicht die Informationen und Daten speichemn, verarbeiten und transferieren.
¢) Bit kann die Informationen nur verarbeiten und transferieren.
3) a) Zur Messung von Kommunikation und Speicherkapazitit dient das Bit.
b) Das Bit dient zur Messung von Kommunikation nicht.
¢) Das Bit dient zur Speicherkapazitat nicht.

Wihlen Sie die richtige Variante:

4) “ der Internetanschluf” bedeutet 31) “die Datei” bedeutet
a) COCAMHEHHE 2) NaMATL
b) AMCTAHUMOHHOE ynpaslicHHE b) datin
) Opay3ep €) NONB30BATCIL
5) “ funktionieren” bedeutet 32) “Internetkommunikation™ bedeutet
a) paGorate a) Hurepuer-obmenue
b) 3anucam b) passreucuue
) BymovaTh ¢) Hurepaer-undopmauns
6) “downloaden” bedeutet 33) “das Handy” bedeutet
a) HOKaTh a) meHan
b) cxanam b) renedou
C) UHTATH c) TpyGka
7) “der Software” bedeutet 34) “die Daten”™ bedeutet
a) copTHpOBKA ) HHOOPMALMOHHEIE aHHbIe

b) nakomneHne uxdopMaru b) nccnenosanue
c) cepsep C) BMECTHMOCTD
8) “ubermitteln” bedeutet 35) “der Kopierer” bedeutet
a) KynuTh a) maruurodon
b) nocrars b) npoHrpeIBaTENDb
C) nepeaasars C) KCEpOKC
9) “entwickeln” bedeutet 36) “bekommen” bedeutet
a) NPUHUMATH a) CIEmMTD
b) pazsusars b) napums
C) CMOTpETH ) NOJTy4aTh
10) Er geht nach Hause zu Fub. 37) Sie schreibt heute den Brief.
a) OHH enyT AoMo#. a) pyr nmuer e nucsmo.
b) OH uzer aomoit. b) Ona nMiner CErofHA MACHMO.

c) OH uaer AoMO# NEmKOM. ¢) Ceroans OHM WAYT B rOCTH.
11) Die kleinste MaBeinheit ist das Bit. 38) Ich ... Computer spielen.
a) BUT ~ 3T0 MHHHMANbHAN €MHHLIA. ’ a) woll
b) BaliT — 310 MHEMMAaNbHAA CAHHUIA, b) will
¢) Bur — 310 MakcUMaNEHaR €AHHULA. c) wollen
12) Das ist ... Frau. Die Frau sitzt und schreibt. 50) Das ist Frau Maller. ... ist schon.
a) eine a) Sie
b) ein b) Es
c) einer c) Er
13) Wir ... Daten auf einem Datentrager abgelegt.
a) hast
b) haben
c) habt
14) Historisch entwickelte sich die Informatik ... der Mathematik und der Physik.
a) mit
b) aus
c) an
15) Der Computer ... den Lehrer nicht ersetzen.
a) kdonnen
b) konnt
c) kann ’
16) Die Verarbeitungseinheiten in der Computertechnik ... Bit und Byte.
a) ist
b) seid
¢) sind
17) Der Hauptprozessor ... das zentrale Element eines Computers.
a) ist
b) seid
c) sind
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Ne 3 TecT no Hemenxomy s3eiky Ne43102
OCHOBHOE TECTMPOBAHME /11 NOCTYIUICHHA B MaruCTPaTYpy
no Hanpasnennie «leaaroruyeckoc obpasosanue» Ha Gaze Gakanaspuara

TecT cocTouT u3 yactu A, Ha ero sainonsenne orsopurca 120 muu.

Yacrs A.
K kaxaoMy 321aHMIO 4acTH A AaHbl HECKOIBKC OTBETOB. B 3a1amMAX, HOMEPA KOTOPLIX 1ie
NOAYEPKHYTEI, TONGKO OAWH OTBET BepHulil. B Gnanke OTBETOB NOA HOMEPOM 3a4aHus
NOCTaBUTL KPECTHK (X) B KIETOUKE, HOMEP KOTOPOit COOTBETCTBYCT HOMEDY M3GpaHHOTO Bamu
oTseta. Bee TepMHHEL, NpeANOKEHHBIE B 4ACTH A, OTHOCATCH K ceuHansHocTH «IlpuinaaHas
uHbopMaTuKar.

Lesen Sie den Text und wihlen Sie die richtige Variante:
Dateisysteme
Eine Datei ist einc lange Folge von Bytes, die in einem bestimmten Zusammenhang
stehen. Dateien enthalten Programme, Text, Musik, Grafik oder andere Daten. In der Regel
weisen Dateien eine formaie Struktur auf. So ist es mbglich, Dateien maschinell zu verarbeiten.
Eine wichtige Aufgabe eines Betriebssystems ist die Dateiverwaltung. Das Dateisystem
ist innerhalb des Betriebssystems fir die Verwaltung der Datentrsiger und Speichermedien
zustindig. Auf den Datentrigern werden Dateien abgelegt.
Das Dateisystem ordnet die Dateien in Ordner und nach Dateinamen. Es verwaltet eine
Liste, in der vermerkt ist, wo auf dem Datentriiger welche Datei liegt. Jedes Betriebssystem
bringt eigene Dateisysteme mit. Deshalb soll die folgende Liste nur eine Auswahl der
wichtigsten und gebriuchlichsten Dateisysteme sein.
1) a) For die Verwaltung der Datentrdger ist das Dateisystem zust4ndig.
b) Das Betriebssystem ist fiir die Verwaltung der Datentrager zustindig.
¢) Das Dateisystem ist fiir die Verwaltung der Datentrager nicht zustandig.
2) @) Dateien werden auf den Datentrégern abgelegt.
b} Keine Dateien werden auf den Datentrigern abgelegt.
¢) Auf den Datentréagern wird nichts abgelegt.
3) a) Die Dateien werden vom Dateisystem in Ordner und nach Dateinamen geordnet.
b) Die Dateien kann das Dateisystem nicht ordnen.
¢) Das Dateisystem ordnet die Datentrager in Ordner.
4) a) Es gibt kein Dateisystem.
b) Das Dateisystem verwaliet die Datentrager.
¢) Das Dateisystem verwaltet die Dateien.
Wahlen Sie die richtige Variante:

5) “*der Internet-Nutzer" bedeutet 31) “die Maus™ bedeutet
a) B3TOMIKK a) KapTa namMATH
b) nons3osatens b) Mbika
C) NpOH3BOAMTERD ) KNaBHaTypa
6) “die Datei” bedeutet 32) “verbinden” bedeutet
a) roCYnapcTBo a) nepepasars
b) namate b) oBpabatriBats
¢) dain C) CBA3LIBATL
7) “dbermittein” bedeutet 33) “Intemetkommunikation™ bedeutet
a) KynuTe a) Unrepuer-obuieHue
b) nocrars b) pa3Baeyenne
€) nepeaaBaTy ¢) UnrepueT-undopmauns
8) “nehmen” bedeutet 34) “bekommen” bedeutet

a) NpUHHMATL
b) 6pars
c) cMOTpETh
9) “der Software” bedeutet
a) COpTHUPOBKa
b) HakonneHne HHGOpMALK
c) cepsep
10) “die Tastatur” bedeutet
a) KapTa namMaTH
b) MpIuka
C) KJIaBHaTYypa
1) der IntemnetanschiuB” bedeutet
a) coeINHEHHE
b) mucTaHUMOHHOE ynpaBaeHue
c) Gpaysep
12) “aufweisen” bedeutet
a) onucats
b) paccmotpers
C) yKa3biBath
13) “funktionieren” bedeutet
a) paborats
b) ne paborats
C) BIUHOYaTS:
14) “das Netzwerk™ bedeutet
a) KOMIBIOTED
b) Hurepuer-cem
¢) cucremisiit 6n0k
15) “entwickein” bedeutet
a) pa3eHBsaThL
b) nepepabatsisats
C) 3anoMuHaThL
16) “die Schnittstelle” bedeutet
a) coaepxanne
b) kauectso
¢) unrepdeiic
17) “privfen” bedeutet
a) BaYnHaTH
b) nposepats
¢) pebosams
18) “downloaden™ bedeutet
a) uCcKaTh
b) ckavars
C) uuTaThL
19) “Daten einlesen™ bedeutet
a) NpoYUTaTh AGHHbLIE
b) BBECTH AaHHbIE
C) COXPaHHTL NaHHBIE
20) Er geht nach Hause zu FuBl.

a) Onu eayT AOMO#.
b) Ou uaeT aomofi.
¢) On Haer aoMoi neixkom.

a) cremuTh
b) napure
¢) flony4ars
35) “die Daten” bedeutet
2) HHPOPMALIHOHHBIE JIaHHbIE
b) uccrenopanue
C) BMECTHMOCTH
36) “der Fernseher” bedeutet
a) paano
b) MarsnTOQOH
C) TeneBu3op
37) “der Kopierer” bedeutet
a) MarHuTo(oH
b) npourpsiBarens
C) KCEPOKC
38) “verarbeiten ” bedeutet
a) nloKynats
b) obpabarsieats
C) npenaarath
39) “Computerfachmann” bedeutet
a) KOMITHI0TED
b) cneuuaaucT no KOMNLITEPY
€} KOMObIOTEPHBIC HIPb)
40) “die Bytes ” bedeutet
a) OuTl
b) Gaitrot
¢) Homepa
41)“die Festplatte” bedeutet
a) naMATe
b) sTax
C) IKECTKUH JuCK
42) “das Handy” bedeutet
a) nepemeHa
b) Bpems
c) Tenedos
43) “klicken” bedeutet
a) paboTars 6e3 MullKH
b) paborats MbnUKOH
) n(HOpMNpoBaTH
44) “digntal” bedeutet
a) widposo#
b) xabenbHsiit
C) INEKTpHUCCKH i
43) “Programme erstellen " bedeutet
a) 3aNYCTHTH NpOrpaMmy
b) usyunTs nporpammy
C) YCTaHOBHTL NpOrpaMmy
46) Die kleinste MaBeinheit ist das
Bit.
a) But - 310 MUHHMAABHAR CAMHULA.
b) BaiiT — 310 MUHMMARBHAN €AHHHLA.
¢) But — 770 MakcHmansHan €1uHHUA.



21) “auf einem Datentriger ablegen™ bedeutet
2) XpaHHTb HA JHCKE
b) vaanuts ¢ aucka
C) 3anHcaTh Ha JMUCK
22) Wir ... Daten auf einem Datentréiger abgelegt.
a) hast
b) haben
c) habt
23)Das ist ... Frau. Die Frau sitzt und schreibt.
a) eine
b) ein
¢) einer
24y Ich gratuliere dir zum Geburtstag.
a) 51 no3xpasAfio TEOA C AHEM POXKACHHS.
b) 51 scTpeyaro Te0a Ha sok3ane.
¢) OH yuuTCs B yHHBEPCHTETE.
25) Besonders in der Computertechnik .... Schnittstellen
weit verbreitet.
a) ist
b) seid
¢) sind
26) Der Computer ... den Lehrer nicht ersetzen.
a) kénnen
b) kénnt
¢) kann

47) “speichern” bedeutet
a) ynanums
b) MmoBropuTsH
C) HAKOTUATH
48) Ich ... nach Jalta gefahren.
a) bist
b) sind
¢) bin
49) Das ist Frau Miiller. ... ist schon.
a) Sie
b) Es
c)Er
50) Das ist ... Madchen.
a) eins
b) eine
c) ein

27) Historisch entwickelte sich die Informatik ... der Mathematik und der Physik.

a) mit
b) aus
c) an

28) Unterschiedliche Systeme ... miteinander verbundzn werden.

a) muss
b) miissen
¢) musst

29) Sehr verbreitet sind Schnittstellen in der Computertechnik.

a)lllupoko pacnpocTpaneHsl HHTEpOEHCH B KOMNLIOTEPHON TEXHHUKE.
binTepdedics: He pacnPOCTPaneHsl 8 KOMNBIOTEPHON TEXHHKE.

o) MuTepdeficsl NPHMCHAIOT B KOMITBIOTEPHOMN TEXHUKE.
30) Der Vater sagt: “Kinder, das Wetter ist heute so schon! Thr .

a) dirrfen
b) diirft
c) didrfst

spazierengehen!”



CHHCOK 3K3aMeHAITHOHHBIX TeM N0 AHTIHHACKOMY A3BIKY
111 BCTYNHTEILHOr0 3K3aMeHa (YCTHBIIH)
AJISl IOCTYNAIOIHX N0 Npoduio:
«VIHOCTpaHHBIH A3bIK» (AHTAHACKHI) ¢ AONOJIHUTEILHBIM npoguiem
«VHOCTpaHHBIH A3BIKY» (HeMenKHi)

The United Kingdom of Great Britain and Northern Ireland.
Customs and Traditions of Great Britain.
London — the capital of Great Britain.

My Native Town.

Our Republic.

Mass Media.

Music in People’s life.

Leisure. What helps you to enjoy yourselves?
. Sports and Games in our Life.

10.Jobs and Professions.

11.Travelling.

12.Problems of the Youth.

13.Computer in our life. The Internet.
14.Friendship in our life.
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«YTBEPXJIAIO»

3aB. kadenpoH,
JOLIEHT

«

»

B.I'. Eroposa
2017 .

Cnncok 3K3aMeHalHOHHBIX TEM 1O HeMENKOMY fI3bIKY

AJISl BCTYNHTEIBHOr0 3K3aMeHa (YyCTHBIH)
[JIsi OCTYNAHKX M0 NPodHII0

«HOCTpaHHBIH A3BIK» ¢ JONOJIHUTETLHBIM npoduieM
«HOCTPAHHDBIH A3BIK»

Mein Heimatland.

Meine Zukunftspléne.
Jugend heute.
Umweltschutz.

Kino und Theater heute.
Massenmedien heute.
Deutschsprachige Lénder.
Musik in unserem Leben.
. Sport und Gesundheit.

10. Bekannte Deutsche.

11. Fremdsprachen heute.

12. Deutsche Stéadte.

13. Reisen bildet.

14. Schulsystem in Deutschland.

V0N R

CocraBuTenu:
noueHT kadenpsl ['SuMII
ct. npenoaasarens kadenpsr I'AuMII

[Tpencenarens NpeAMETHOW KOMUCCUH
110 HEMELIKOMY SI3BIKY, HoueHT kapeaps! [ SIuMII

Cratuuk O.T.

I'mnesuu I1. H.

Estomuena H. B.



